SAH.

e
Y3

« Hjo|A

o =5 4E.

L LpA A

P

Ot =3 ZH.

| 2E

SAH.INOX

S48 =E

« Hjo]A

AISI 304 AB[OIHA ALl
o LEAL AR

AISI 304 AB[OIHA ALl
c4E

AISI 304 AB|QIHA AEL

d d

; i

| |

1 l

\ !

- | - |

| |

| |

= \ = \

\ \

d d
Elesa = = K== q Elesa = =9 X q
ac ALQF d | h di g ac AHQF d | h di q
GG.AUT20 SAH.M5x36 M5 36 9.5 14 10 GG.AU520 | SAH.SST-M5x36 M5 36 9.5 14 10
GG.AUI21 | SAH.M6x45 Mé 45 10 16 17 GG.AU521 | SAH.SST-Méx45 Mé 45 10 16 17
GG.AUT22 | SAH.M8x65 M8 65 12 18 30 GG.AU522 | SAH.SST-M8x65 M8 65 12 18 30

6G.AUI23 | SAH.MI10x75 M10 75 14 20 56
6G.AUI24 | SAH.M12x85 M12 85 16 24 47
6G.AUT25 | SAH.M12x125 M12 125 16 24 95

elesa ELESA 2% B@ Ho| 97{3t IH A9 ELESA SHS MM 0f &4 XS grlsict





